Geometry R — Mrs. Cowen Name

Unit 2A — Day 3 Notes Date

Parallel & Perpendicular Lines
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In the picture, Segment AB is parallel to segment CD. X, —¥
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c. What conclusion can be drawn about the slopes of parallel lines?
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In the picture, Segment AB is perpendicular to segment CD.

a. Find the slope of segment AB.
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c. What conclusion can be drawn about the slopes of perpendicular [ines?
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Determine if the lines are parallel, perpendicular, or neither and explain why.
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Find the equation of the line that passes through the point (8, -2) and is|50ral!e!lto the line y =2x+37?
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Putting it All Together

A Mid-segment of a triangle is a segment that connects the midpoints of 2 of the sides of the triangfe.
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b. Find the slopes of Mid-segment DE and side AC. What conclusion can you draw from your results?
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¢. Find DE and AC (remember this mean distance). What conclusion can you draw from you results?
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